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By converse of Pythagoras theorem, angle WZY is a right angle 
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Correct curve – 1 mark 

x intercepts (0.414 and -2.414) and y intercepts (1) – 1 mark 

maximum point (-1 , 2) – 1 mark 

AO2 

 

10b 

 

x = -1 

AO1 

B1 

 

11a 

 

3 – (-4) = 7 

AO1 

B1 

 

11b 

 

3
3

1
= −

−
 

AO1 

B1 

 

11c 

 

( ) ( )
2 2

4 3

25

− +

=
 

AO1 

B1 

 

12a 

 

22 500 5

55000g

 

=
 

AO1 

 

B1 



26 
 

12b 

( )

Supermarket A

55000
no. of 3 packs set

2700

no. of 3 packs set 20.4

no. of 3 packs set 21

21 2700 56700  (more than the require amount)

total cost 21 8.45 8.45

total cost $354.90

Supermarket B

55
no. of 6 tins

g

=

=

=

 =

=  +

=

=
000

1800 6

no. of 6 tins 5.09

5 6 1800 54000

total cost 5 91 16

total cost $471

g



=

  =

=  +

=  

Supermarket A, not only will the owner get more milo powder and it 

cost lesser than Supermarket B 
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Since the ratio of the height to the distance from the wall does not 

follow the 4 to 1 safety rule. Thus it is not safe to use the ladder. 
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